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f(x) = f(0) + Vf(0) - x + %XTHf(O)x + o([Ix/I?)

B Y, Peano remainder: %XTHf(O +0x)x, 6 € (0,1).
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Lagrange multiplier
f(x) s.t. gi(x) =0 B9 Lagrange BRELH

L(x,A) = f(x) + ) AiVgi(x)

extremum [ — Vf+ Z AiVgi =0
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0 F44R dxdydz = pdp d6 dz
0 BRAFR dxdydz = r?dr sin pddp do LEALEY ¢ BRINA

0 EEIENTH dxdy = |det Jldudv EH det] 2 x,y XF
u,v B9 Jacobi 175I=, BEEVEXE; JTEFRD XIGAIT L.
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0 F44R dxdydz = pdp d6 dz
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1. ZE—1ZTE/E r(u,v), FRAHERE n=0,r x d,r

2. ZE—ZTEHE F(x,y,z) =0, ER4baiE@E
n = VF(x,y,z)

3. MTHERENYIEE 1=n; xn,

EHE'\]EFEE z :Z(X)y) E.“’\/UEH I'(LL,V) = P(X)U) = (x,y,z(x,y))T
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B f(x,y) £ D LA, B IVF(x,y)ll < M. %&E AB C D. ilEFA
[f(A) —f(B)] < MIAB|
Proof. JE=Z|

0
3t flA(1—t)+Bt)=Vf- (B—A)
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o=
FR &'(0) < IVFIIB — All < MIAB]

38 € (0,1),16(1) — $(0) = [¢'(E)I(1 — 0) < MIAB]



1. AJRIEREN F(x,y) = g(v/x2 +y2) = p(x)q(y) K F B9

P (x) q'(y) - {p(x) =Cp exp(Cx?/2)
q(y) = Cqexp(Cy?/2)

2. z(x,y) = f(\/m), fe C2)(0,+00). d2z+ o5z =x%* +y*.
K f(p) FIRIAR.
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